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( (Simultaneous linear equations) J? bL«‘ﬁW)
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¢ &:i/ (Simultaneous equations)
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(1) 3a+5b =26; a+5b =22 2 x+ 7y =10; 3x — 2y =7

B 2x -3y =9;2x +y =13 4 S5m—-3n=19 ; m — m = -7
. _ 1o, 10, 1. _ 1

6 Sx+2y=-3;x+5=4 (6)3x+y—3,2x+4y—4
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(Solution of simultaneous equations by graphical method) <2/ /l’u‘:fééd./ J’ uf; b\/ub)@

-L/u:/o,‘ob’zﬂgu“'/’/é'{aw}d/u?bwuﬁx —y=2ux+y =4 :J&
x +y =4 2x —y =2
X -1 4 1 6 X 0 1 3 -1
y 5 0 3 ) y | 2] 0 | 4 4
(x, ») |(=1, 5)| 4, 0) [(1, 3) |(6,-2) (x,y) |(0,-2)| (1, 0) [(3, 4) |(-1.—4)
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X+2y = 4 X+ 6y = 12
x -2 0 2 X -4 1 8
y 3 2 1 y 4 1.5 -2
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EoGLE S S fle & AU enelesd 2x —4y =12 5l x— 2y = 4
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ICT Tools or Links

d/ USlslssl A J@.éf - Y8 - Xauuf Geogebra software
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( (Determinant) 6 (3 )

b iy a
$f (d]‘ @ LASI-g B 8T (e, d) < (a, b) S UT- EE KB, ‘c 2‘
e Sk G B -t UK 2 U S Bl B e 2 a6 6 1o oF
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2 4 (3)B=2 33

5 3
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(1)A:§;‘ (5% 9) - (3% 7) = 45 - 21 = 24 J
oN= | j‘ = [(-8) x (#)] - [(-3) x 2] = =32 - (-6)
= -32 + 6 = -26
243 9
(3)B=23\6 =[23 x 33] - [2% 9] =18 - 18 = 0
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2 1

=p2p1papapapapapapIPIPaPaPPA 11 el
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2x2—7x+6=2i —7i+6
2 2
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9 21 12
=7 3 +7 70

- x = % SLibebidrrd U
Ly = 22 -+ 6 8 (i)
2 —Tx+6 = 2(=2° -7(2) +6
=2x4 + 14 +6
=28# 0
e K 2~ Tx 6 eblex =2 LU
K end LSt i kimsiefif b —14x -5 = 0 wbleox = S0 o6d
ES

eboGrdpox =] Luia eyt k- 14x-5=0 :(f

s

k[f—m[l—s: 0
25k-70-5= 0
25k-[1= 0
25k = []

k = Q = 3
[]

-Jffui'uf:’c-f

M/w/ga,,w,m}?cmb:auﬁm-‘a ax’ +bx +c =0 wfdz&vtfawdf/ (D)
-

(e n bl r G0 Gl (B UL el re UF A (2)
e LG A SIL b B U
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21 or &

gl a
_eE B e ULl 2
()X +5x-2=0 (2) > =5y - 10 (3)y2+%:2
Hx+1=2 (5)(m+2)(m=-5)=0 (6)m’+3m’ -2=3m’
_“é(}l’”&gd/cu'b:aéé:ug/:-ﬁguﬁcuﬂd/ ax’+bx +c=0 ufl:L«‘J";’G/} 3
(1) 2y =10 - y? (2)(x-1)?=2x+3 (3)x*+5x =-(3-x)
(4)3m*= 2m*-9 (5)p(3+6p)=-5 (6) x*-9=13
_EE G el uiselead SE I oS L UG, 4
()X +4x-5=0,x=1, -1 (2)2m*-sm =0, m=2, 3

_“ér)“”&gd/k?nx = 35008 b 10x+3 = 0 wbo@rSl 5
y)d/;d/gj:)“iLL/?)‘”angk;n %7 JM.QK S+ 2m+ k = 0 c«’}l/‘df//';' .6

-éﬂ(?
< e LIE SmE+2m + k=0 =bla@,  (f

Lom= . (45/&:4’5Vu(4}’)
SX |:|2+2><|:|+k =0
[ 1+ J+k =0
[ ]+ k=0

k=[]
sl T

COF G L g & - =5 il 5w d-25 G AU A
SN L S S5t E S ESL S S f iz
né()’”@/&i?.ldi@f’@/d%n :(K(y

(1)x*-4x-5 (2) 2m*-5m (3) a*- 25

= x’-5x+1x-5 = ... ... = -5
=x(...)+1(....) =(...) (...
=G...) (...
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C(Solution of a quadratic equation by factorisation) l?/?)“"ﬁgc’_— & HPL G Yoy 4 D

cnj,w_%L“mt,//;;ﬁ,&Kui‘éi_}wgg@%/ﬂ‘u/@Ju,udf//LﬁJ@J/é"g_ﬂ
LIS L Sphre B AL e 210kl Bt U
Fodx—-5=(x-5 (x+1
Grutd —dx -5 LUy (x+ Dol (x— 5)(}/)7.‘%)5 - dx -5 G AUl
-ujimgﬁflb‘égf“}@u/ XX —dx—5=0 é’}Vdf/LbLnJilaaﬁj/?(
x-5 (x+1)=0
-‘4t‘nj";ﬁugﬁif;_u.f:w'»uf?n/"..//"‘j'b(;wl»ﬁ

T x—-5=0 L
Tx =95

x+1=20
L x =-1

LS 15 el i s sl

(LS Fete G LSS L S o3 Al G E ki Al SIS e

A

Q.. Ug(‘}‘o;/vp CAALA

()m*-14m+13=0
(3)3y*=15y
(2)3x*-x-10=0
3x*P-6x +5x -10 =0
T3AxX(Xx-2)45(x-2)=0
B3x+5)(x-2)=0

(4)x*=3

3x+5=0L x-2=0
-3 _
X = 3gx—2

-2 —% /lgé;&‘}t/‘df/&ﬂd}

‘éwé%/LQ/L’Z’QI)VJ{/JJ;’ Jt’»

(2)3x*-x-10=0

(5) 63x*+ 7x = 3

(Dm> - 14m + 13 = 0 :f

. m'-13m - 1m + 13 =0

m(m-13) -1 (m - 13) =0

(m-13)(m-1)=0

om—-13=0 | m-1=20
m=13 L m =1

S s 13l el ol -
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4 x'=3 (3) 3?=15y
xX*-3=0 . 3)'-15y=0
x'-({3)" =0 3y (y-5)=0
LB (- 3) =0 Vo0 yes =0
SX+3=0 L x-43=0 y = L y =35
x=-3 | x=43 ~UE 50 kel rd
~Ut V3ol -3 /jgiabl/df/éngj;“iu’l

(5) 63x*+7x=183

63x2+7x -+3=0

632 +9x-2x-3=0 |
3B x(2x +B3) -1 (2x+3)=0 |

(2x +V3) (3Bx-1)=0

L2+ 3=0 | 3V3x-1=0
x=-B L 3Bx=1

: 3 L

. X=—7 v X=3\/§

6~/3 x (-+/3)=-18

-18
9 -2
9=33x%x3

1 N
-Jf T ol - = < o
e Nk ; /A?L }L/dj/

2200

S S B IL 2B S o

(1)Xx*-15x+54=0 (2)x*+ x-20=0

(4) Sm>=22m + 15 ;

(5)2x*-2x+ 5 =0

(3) 2" +27y+13=0

2

(6)6)(7—; =1

(1) V2X2+7Xx+5¢2 =0 _éérwﬁ;@xj_éa‘./f;’ékéd LI el B

2 X2+ |

LX+Tx+50 =0 (S
| +542 =0

| +|
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" I (x+2)=0
Lx=[_ ] L x=-\2

-t =2 ! Lo e lsla$ly

(813 - 2J6 x+2=0  (9)2m (m - 24) = 50

(10) 25m* =9 (11) Tm* =21m (12)m*-11=0

_HAFET
( uammayégﬁg@v{>

(Solution of a quadratic equation by completing the square)

el X+ 10X +2=0 ¢ 50
d/a/}'92V¢,}l*/.c;_‘/g/§:'xul¢_‘auﬁa/ﬂd/ ax*+ bx +c=0 fuz{/:/& SO
e g
(S S Tenl st
10 A PR E TS P21 L 2 5 Ul p U L
_éf/Jéq/o;-KnL'/JWL@%/,)“&LL/J’/WL&&!;J‘ Y
LSSt IE LS B St ts Bt X+ 10X
¥+10x+k=x+a)? J
X+ 10x +k=x>+2ax + a* In
k=a*s10=2a i Joow60n U
La=5, . k=a*=(5)%=25
o, X’ +10Xx+2=(X+5)>-25+2 =(x+5)"-23
CESS T X+ 10X +2=0 =bligy
LS fe il Je os Sl P e SGIL 0P e LA L abla B 1o

—

-
(x+5)-(J23)"=0
Sox+ES+ 23)x+5-023)=0
X+5+ 23=0 L x+5-/23=0
xX=-5-J23 | X=-5+23
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TSA e bkl T fp oz
(x+5)7-(J23)'=0
(x+5)" =(23)
X+5=/23 L o x+5=-23
X=-5+23 | xX=-5-23
0.0, At/ f BSBS
sxi-4x-3=0 &S MJe
Fadrt) 1o XL L VeSSl Ut pnd FleisG,rl ens 1 f
S s Sl U1t
4 3

X-=-x-=-=0
5 5

4 4 z
x2—§x+k= x2—2ax+azpnx2—gx+k:(X-a)2/l,l

) 4
i Se X -2ax il X - - X

5
__4 _1 4_2
-2 ax = 52x, a=3xz =z
kzazz(%) _ 4 ?ﬂc«/ﬂu(x2+bx +Cc=0chls
5 25 (B
| o4 3_9 x2+bx+(5j—(5j+c:0
-y 5 5
4 4 4 3
. 2 S a2 o f
. X 5x+25 25 5 0 sz” I
2
oV 4 3 b (bj
—— | = (— —-) = +—=| = - - ot
(x sj (55 +3)=0 (x 2) 2) = G
2F 19 e pemnS
5) ~(%)=0
2V 19
3= ()
575 b 57 5
M RRE) wo 2o
S5 T s b =57 ;5
_2+\/E _2—\/5
X=— { X = —

2-+19 2+419 .
- ;/7 7l 5\/_ ueé:«’}l/d{/
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3602007 () aLp
x> +8x-48=0

X+ 12x-4x-48=0
TX(x+12)-4(x+12)=0

T (x+12)(x-4)=0
o Xx+12=0 L

Xx= =12 .[., X

X +8x-48=0 2 F 2)J&
YA (S

X+ 8x -48=0

TX+8x+16-16-48=0

(X +4)-64=0

(X +4)" =64
. X+4=8 | x+4=-8
x=4 | x =-12

ce 12 L4 el e U

23 o

(DX*+x-20=0
(4)9°-12y+2=0

(2)x*+2x-5=0
(5)2)°+9y+10=0

_“éfc%/d: &/Jga';w(ff/d:'g/ﬂ
3)ym*-5m=-3
(6) 5x* = 4x +7

AT

-

((Formula for solving a quadratic equation) &> K. Sl /)

el e Ly Ceprar 0l e af af v bx e

a

b - b
X+ X+ %= 0 &’}V/(mﬁutc«/}‘ad/U/Lu}’f/}) X+ ZXt % Ve
_ugéfJ”lijgLJ’(loé ax’ + bx +¢c =0 =/l ﬁ

at+bx +c =0

NI oY

ISl e

IS oY

(D)
(S adA P

ooooo
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. b b* —4ac ] N b b* —4ac
* 2a 4a’ - g 2a = 4a’
b b* —4dac b b* —4dac
X 2a 44* - X == 2a 44*
—b+~b* —4dac —b—~b*—4ac
X = l X =
2a - 2a
b+b* —4dac

@ st = ————= 5
_Q*L/'/ b D307 () B sl (WD) o 1o

—b++b* —4dac —b—~b*—4dac
o = > , B = R ()

+b* —4dac

-~ —b+
O d/ 2a

a/l/u?‘fd/wb:auﬁaxz + bx +¢c =0l
—e b S Sl T Ut
S E KL S e x = L2 “b —dac J

-u‘é/}lh;w&uiu[yujd/r_J“J’)JZ:VUVJJ/
g ES s bl 1oy

—b++b*—4ac —b—+b*—4ac
B - 2a s Q= 2a
- —b—+b*-4ac . —b++b*—4ac
a<Bix o = o so>P s o= > fufngag,
00000, St/ f BB
1y = bV —dac : S S S s oinl S8 L
2a ! .
e ! m-14m+13=0 MJe
- 2x1 : m-14m+13=0=blr 1 f
14412 | )
= — | & ax +bx+c=0obw(w
| .
= 14512 U om= 14;12 L a=1,b=-14, c=13 4L Loy
%6 ) ) | b’-4ac=(-14)-4x1x 13
ms= = L m=3 ! =196 -52
m=13 | 1 [ = 144
|
|

< 1} ;3 Lol alla,
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a=1, b=10, c=2,

w b*-4ac = (10)>-4x 1x2

=100 -8
=92

—b+b* —4ac
X =
2a
~10++/92

2x1

—10£+/4x23

2

—10+223
2
_2(=5+423)

- 2

x=-5+23

x= 5423 L x=-5-23

X+10x+2=0 Q2)Je
EXP+10x+2=0=blr :f

il Jilve a* +bx +¢c=0

- 523 | 5423 Lol =lolr(

X-2x-3=0 (3)J&

4L/2)lr:, ax’+bx+c=0 a!;t,»(w.wwéﬁd; S
a=1,b=-2, c=-3

wbP-4ac=(-2)-4x 1x(-3)=4+12=16

o —E2)I6
2
_2+4
-2
=3

3

b

¢

X =

~(-2)-416
2
2—

2-4
2
-1

ce L3 ke hlaBrd U
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cAd e JES L L S e X - 2X =320

x2=2x+3[j’3x2—2x-3=0

-Zuﬁdpﬁé‘ﬁvww‘:‘:gﬁ;‘a@ng“b‘ X =2 + 3 ehlee Uit Pl x
“’iu:/b‘(:'/;Jh"/"VU’ y=2Xx+3sy=x*,y=x'=2x+3 “éu‘/

2

V=X
X 3 2 1 0 -1 -2 -3
Y 9 4 1 0 1 4 9
y =2x+3
X -1 0 i)
y 1 3 -1
¥
104 1, 1) de pmhiets s,
(=3,9) 9 (3,9) -@8/834;@0'(3,9) s
3 4 X' =2+ 3 bl
i x =-1f¥x*-2x-3=0
i - x=31
= y = 2 ehlegt Fd
i 42 (2,4) Gfuifrau:}J y=2x+3 .l
3 sl o Zf'@ﬁ'éui_w
b | G X =20+ 3
i i i c/u{)’; X -2 -3=0
-J,/u&)/d/é;ufd"_nfb
i i S R SR S SRR Sl
o
1

1papapapapapapapapapapapapaps SO D I




X+x+5=0

Ex2+x+5=0bhls

gl Jilve axd’ + bx +¢=0
a=1,b=1,c=5

(5)Je
S

wb’-4ac = (1)'-4%x 1% 5
=1-20
-19

_ —bt Jb* —4ac

2a

_-1E-19

2x1

-1£v-19

2
drsd Ul V- AN T S
-Ufﬂﬁ&%kéobwdf/

X

25x°+30x+9=0
25x2+30x + 9 =0 /sl
e a’+bx+c=0¢

@) Je
S

:4L %
a=25 b=30,c=9
. b*-4ac = (30)>-4x25x9

=900-900 =0
—b+~b* —4ac
X =
2a
_ -30+40
2x25
-30+0 -30-0
X="5 L X=T5
30 30
Y="5 ¥ Y75
: 3 : 3
X=-3 L ox -3
:J)L/J/J{ufukﬂv

S Ul 25x% 4+ 30X + 9 = 0
25X+ 30x + 9= 0 LAST

*’Jg;/u:u&‘”ﬁc’" (Sx + 3)2 =0 ‘3’,{

N
MESLBp S &P P22 20 + 13x + 152 0 e hle(y :rKJf
~E Il L ot Lelin o S S LY, )

24e0F

_ﬁgﬁd/ c<bea L/:&J'}”c;g/r"d/’lfv Ku;'}VJf/J“;'gACf 1

(HX*-7x+5=0 (2) 2m* =5

(HXx*+6x+5=0
(4)5sm*-4m-2=0

(2) x*-3x -

1
(5)y'+3y=

m->5 (3)y* =7y
_“éfé/'vl.’;" g&b/u;’JV&/d5gjﬂ 2
2=0 3)3m*+2m-7=0

2 (6) Sx*+ 13x+8=0
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abiwénd}wﬁ/g)ﬁ/;nejufi3£/db&lKa.u,/ X +2B3x +3=0 c:«bl/d.// 3
_ES3L
JoEL| lebe@r| | b -dac] | X H2BX+3=02bl-r| o f

(i s S || g 3| | @ DX #C=0 2k
d ) =Y = ’ f’h"u..&jd/ abc LS ive

A _g%u Py
_AEET
((Nature of roots of quadratic equation) :«:‘]d/ u»lgé ST - /)
2
. —b+b —4dac
(LS S L x = TN L v 4 by 4= 0Bl
—b+f
cX= Jw b - dac =0 S (1)
-b -b —b 0 -b+0
= — = — y = - ’
¥ 2a box 2a ‘ﬁ . 2a bx 2a ”iu/
-wLnd)V/ﬁ'&%bia'5Vdf/
X = ‘b”;’ —HC S b - 4ac >0 ) (2)

~b—~Ib* —4ac | —~b++/b* —4ac U}}
= 2a A x = 2a -

-UZLMJJV/:,;A'&??A?L c«bl/d{/

s . Y —b+~Ib>—4ac P
i L e olr B U (- L oLl 32 X = > “ Jw b= 4ac <0 S (3)

-ujLnuﬁ}
b* - 4ac {,Jl%gn/;@a;agd/bz— 4ac:«.’id/uujg£ax2 + bx + ¢ = 0l ,
(cm SAEIA) -t &b e (k) A e 1- g 2L (discrimant) 6 tsls 2o

_éd'{l;dlé/lz Jat#&nd;uﬁ‘j“’} :rm}f

> G
(1) _ >
@[ -3 | —
o ] — I

-»»»»»»»»»»»»m»4««:««4«:«««««4«-




Q0. e/ BSY
_g{(k”o»fd/);fut X+ 10X - 7 =0 =bl@, (1)JE
(LS ad + bx 4 e = 02K X+ 10X - T = 0 bl S

a=1,b=10, c=-7
~bP-4ac=10"-4x%x1x(-7)

= 100 +
= 128

28

_“édfma{f)}d/u”kc);féu;bv‘iLyjﬂ (Z)Jﬁ"‘

() x*+2x-9=0
I E X+ 2X -9 =0 sl

c4z°_/4~_ax2+bx +c=0

a=[_J, b=2¢=[_]

S

bi-dac= 2 -4ax| x|

A=a e[
= 40
~b*-4ac>0

_uzd}l//:;/}’(}f??/lgi c«bl/(ﬁ/,,iu/'

(iii) VB3X2+2Bx+ 3 =0

1) 2x*-5x+7=0
IPE2XE - 5x + 7 =0l 194

i Se a+bx+c=0
a=2,b=-5,c=1

“bP-4ac= (-5)*-4%x2x%x 7

A =25 - 56
= -31
~b'-4ac<0
U E el el

gl Jeal +bx +0=0 KB H2BX+ VB =0en 1 f
az\/g’bzz\/gacz\/g‘u‘{{,
b -4ac= 23)-4x 3X 3

12 - 12
0

4xX3-4%X3

_uzgf}b‘u’&%lgigbb‘d{/éjvtﬂ
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J"’uyj;éug/muu,zgéauudf/
(Relation between the roots and coefficients of a quadratic equation)
e U P ol o el OXT + bx +c¢=0 :«M/d{//ﬁ
A
b dae b dac o dac |, b e
oaxf = > X P o+ = > + >
(—b+\/b2 —4ac)><(—b—\/b2 —4ac) _ ~b+~/b*> —4ac —b—~b* —4ac
= pe 2a
b* —(b* ~4ac) __
= T 2a
4ac Soa+P = _2
_ L
T oa
C
af =7
_éﬁqkuj[gi_ﬂ%)uzdj :r(&j
sl OL +B: 4‘-.J_£10x2+10x+1:0_..,1,vdf/

O(’XB =

0.0, A/ f BAS

e X B+ B Ul 26+ 6 -5 =0 eblo@apala (1)JE

i @l +bx + =028 2+ 6x - 5= 0 hley S
a=2,b=6,c=-5
b 6

G+B:—g:—j:—3

/}’,aXB = %:__5
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_E e d S kI 710/l X - 13x + k=0 2hle@, ()
yi e al +bx +c=0208 X - 13x+ k=0 enleg,
a=1,b=-13,c=k

a > B /)iuZ/,Zgéa’}Vdf/Jﬂdﬁ Bl a ‘S{J/
b __(13 (D)

a+Pf=-,=-—7 =13
S, a-B=17 o (etnly) (D)
20 =20 R OV o1 441) VPN () S
o =10
L 10 +B = 13 o Igd (D]
B = 13- 10
o, B =3
o X3 =§
10 x 3=E
T
k =30

Iridel X +5x -1=0able@r Buia  3)JE
_Eeedd at B ol + B ()

:42_/c;ax2+bx +c=0 KX +5x-1=0xllr - SJ
a=1,b=5, c=-1 Ul
b -5
a+B: —E:T:—S
c -1
(XXB: Z:T:—l

(i) o> +B°=(a+P)-30P (a0 +P) (i) a* + B* = (a+ B)*- 20
=(-5)° - 3% (-1)x (-5) =(-5)*-2x% (-1)
=-125-15 = 25+2

o’ +B*=-140 o’ +[3*=27
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( L’/'/Jlla:«blw‘df/'—f“uﬁ Lﬁ%’”@’)
(

To obtain a quadratic equation having given roots)

¥ B a /lgégl;{,»df/d!,/é:‘ X ‘“éu.‘/'

Lx=a b x=PB

Tx-a=0 L x-B=0

L x-ox-PBx+af=0

X -(a+Blx +af =0

BES e Bl S5 Sl G L e B s o (5
X = (A 6uie)x + PN busie = 0

-ﬁu,udf/duuww 9 PN 6Ussie st 10 o4 €Uside < (1) ,»K&’

- x4 =[] ... (= lslap, )
S Sl @ dii B = Ssla = 2: (1) r6S
gy po - (] + D+ x[]=0en-dy

G, - Jx+[__]=0
008 A/ f BB
-é“_l'/.abl/df/(f.'JUn =7 2513 /,Zgéabl/df/g/% L Je

B = Tua=3EH S
T a+B=(-3)+(-7)=-10, axP =(-3)%x(-7)=21

L= (o +B)x+af =0 (Kbl
X2 -(-10)x +21=0

X2 +10x +21=0
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F s Bl o el ax*+bx +c=0 c«bLfdf/ (D)

) ~b++/b* —4ac ’ ~b—~/b* —4ac
(I)OL = 2 42 > B =
a 2a
3 b
(11)0(+B:—5 sl aXBzg

Jn/fQufJ b? - dac = QeI Susiel ax + bx +c=0 =bl-Gr (2)
_uj‘Z_//;Ua'a, JJO‘.%U A %!‘u,? é:i/(discriminant)}?'/ajlfw“i V-

R Ll FEslsio Ul et B A = 01 (3)
Rl s F il e B I A > 01
-%Ln;ﬁ&bj/jgia!;wdf/:?n A <0

b X2 = (0 +B) X + o =0 Sabba Gt Lse sl o sie L lslr G pf (4)
g/

2500

‘éd{‘)}%d&gfjﬂyﬁ N |

. - _ |
(1> 2&—4"L’"d{/ > b*-4ac=5
ax’+bx +c=0 b -4 ac = -5 "~

(2) | +Z6usle =7 é..‘f“".‘i’.““.f g }w&*mw =5
:b.}'uyz/lgﬁa'}b/u’f/éd;' Bl a J 3)

)
eHSUse
i

Ja+B=.....
2xX*-4x-3=0 g
laoxpB=... ..
_épl’”og(;}:”é:c«’}bﬂﬁ/d5gﬂ 2
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((Sum of first n terms of an A.P.) (‘f’d/u&l n %Lﬁudp)
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- (Tax Invoice Jf’j"jg)

AP A e
SUPPLIER : A to Z SWEET MART GSTIN :27ABCDE1234H1Z5
143, Shivaji Rasta, Mumbai : 400001 Maharashtra
Mob. No. 92636 92111 email : atoz@gmail.com

Invoice No. GST/110 Invoice Date: 31-Jul-2017
S. HSN Name | Rate | Quantity | Taxable CGST SGST Total
No. code of Amount

Product Rate Tax Rate Tax Rs.
1 | 210690 Py ?}élé)o 500',,/ 200.00 | 2.5% | 5.00 | 2.5% | 5.00 |210.00

2 210691 le 3 80 140 80.00 14% | 11.20| 14% | 11.20 | 102.40

1ek . 9 . 9 . .
3 2105 (’/uf’, 7200 (50()(;/) 200.00 9% 18.00| 9% 18.00 | 236.00

4 | 1905 A %35 1L 35.00 | 0% | 0.00 | 0% | 0.00 | 35.00
1T 500 z 9 9
5 | 210690 #1350 250 e 125.00 | 6% | 7.50 | 6% | 7.50 | 140.00

2y I [41.70 41.70 | 723.40

bkl e e s QU BWIZ AT U

U’JCentral Goods and Services Taxu}} CGST.u*&»L GST.SGST./ CGST : S
State Goods & u)) SGST -« (¥ 07u’t Z J:Gd/} Jp, - u’cul.»ul l/l d/
..gL/C?u’LLJ;GU’L/,_J‘:VL»J)’V’JLJU’J Services Tax

S fose LU’)G(A/ SIS% L d/_;;fui‘;yu*gfu'b/;liu”m‘jc 2

:/“f iz l:'u%. (GSTIN - GST Identification Number) / (f 26Uz t‘ﬁ‘a GSTIN . W
100 AP PAN —ae G e S0 DK 641 &b 20 Ut LB
3o ($5t 370k U e brtsie (e 37 15 U GSTIN st sd 2 S sea bran5in 7
e b e 37 106 PAN £ 261U

- 27TABCDET1234H1 Z 5 e ULkt S T)

APANES, Usins sz 10 (et fiSS
it 1 L Lkt L] A el Fuly 277
uL{;LJ &UUHL 27 -« (State Code)
ey (L6521 Cat S b A e A
2158 225G —e U P B

(e A e b Tuts 52 GSTIN jer oo GST Freai )
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Aahar Soneri, Khed Shivapur, Pune
Mob. No. 7588580000 email - ahar.khed(@yahoo.com
GSTIN : 27 AAAAAS555B1ZA

Invoice No. 58

Invoice Date : 25-Dec-2017

SACode| Fooditems | Qty | Rate |Taxable CGST SGST
(SAC) (inRs.) | *MU
9963 Coffee 1 20 20.00 |2.5%(%0.50]2.5%
9963 Masala Tea 1 10 10.00 |....[|... 2.5%
9963 Masala Dosa | 2 60 2.5% (...
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